POWERED BYlﬁ

ENDURA

DOOR COMPONENTS MADE IN THE USA

Opaque Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS DR-853
The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 Interational Building

de {IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the
following conditions:

2. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.
When used in areas requiring wind-bomne debris protection this product is
required to be protected with an impact resistant covering that complies

3. with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.
Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject 1o further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general notes
Astragal details (Ultimate Trilenniumy

Door panel details

Horizontal & vertical cross sections

Vertical cross sections

Frame anchoring

O D W N

74" MAX. O.A. FRAME WIDTH

82" MAX. O.A. FRAME
HEIGHT (INSWING)

81.125" MAX. O.A.
FRAME HEIGHT {OUTSWING)

XX

INSWING

+45.0

-45.0

XX

OUTSWING +45.0

-45.0

uj
@*‘?““‘g&q 2y
met L s % P
Sxriotdd 8, 8
~ = e, -
S6s2 £ 2w
o [ S G . oM =
2 A d ;O"CQ o ul (O] 4]
s e Lo a z z
g-i W7 0is R
iy i TN E
2,04 i Z 4 T Zoa2 B
R\ 103 58 BEQ &
B 12 3>
S aimt £9% &
111"‘4: Ao % ON &
Mo @ § o
[CEE-34
P z8, &
2 5%
&8 =2g6 o
? 59¢ 9(5
a moo S
@ i’_% m
-
c
L
2 -
O
[=]

CERTIFICATE OF REGISTRATION # F—11852

[75]
]
Z =
<
0
o~
&
3y
& o BE
) <O
S |3 ws
& = o
Ll
0l Yo
1] __|'-U
. < 2
- 1 QU‘)
=1 S| &0
=) [ t"u
S T
a. 0.
inf>-
Ll
W
o
S
o
©
X
S |»
ol [z
© -
S 4]
]| =
v
o
i
0
a
>
~
S\
2=
Q<
SD
-lo
z
bATE: 11/09/16
scaE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4659

sHeer 1 oF B

Z:A\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-853 Plastpro FG Opaque (Trilennium)\C - Drawings\TX-4658.59.61.62.dwg

© zo16 R.W. BuiLpDING DONSULTANTS ING.



"ON] SLNVLINENOD aNIQUNgG "M e 9102 &)

2S8Li~d # NOUVHLSIONN 40 IUVOLILLNIO SNOISIATY
SYFINIONI TVNOISSIJOdd 40 QNVOS SVX3L gmﬁ&w.mﬁ«%@g\mme Ag 3lvd [ON|© 6_
L6LE'BSPELE FON WO . S41| 3000 oui/oal 810z oL Aivdan|iz/9z/ot] L |<|4|X|L]| & i
S6SEE 14 OOMIDA OSZ Xo@ ‘O'd \N\wg ‘ATENASSY ¥0 Ldvd = ot I Bl PR B
*ONI *SINVAINSNOO SNIglng >~ = . 2 | 2*
— 8| &g &
€ZLYOL# "I'd SVYXIL VYHNAN3 i slylE L
“3'd IPIWLOS 'Y UOPUAT  :Ag pedpdesd suewNDog onaosad 5 ERE: m M
in
o™
© WOLLOg
N
o
~N
o)
™~ e :m@.N B
T <
]
_ » 5
: 3
& ~ S
v = - o
3 L <
= (o]
] Z
5 S 2
= o)
o
- <
2| 2 g
- =z O
P~ "....D it} ]
N oz o
~ Q R o
N 3 | <
oz =z
O 0
T a4
O B <€
=z ] T
<C ~r P
o £ <
d O
< Q- gy
U] i
< D
£ =5 =
< <
. &
3 Q
N 5
T SO T P
< -
ac
N S
v
2 =
— X
Li.
Q.
&
&
>
R m
dOlL I
)
o
OF
vy D
5 E
o .
= <
> @)
<
o
a—
v
<
o =
- ww )
20 B S prd
= D = £
E 88 2E 5
~ 3 88¢g 5T =
> =5 e - a4
3 TS Q= S —
B >3 a < Ll
e g8 > =
E == <
5 < =
< -
\ o)
' |

BMpz9'19'65'8597-X L\sBuimelq - D\(winiuusji 1) anbedO 94 oidiseld £68-¥a - IAL\su} Jo 3daq sexa) - B\LNINVINYId eNpUISIUBIINZ



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-853 Plastpro FG Opaque (Trilennium)\C - Drawings\TX-4658.59.61.62.dwg

0.7" —— —~ EXTERIOR 2.8"
0.4" — i e 0.4"
? —~Lr u- ) u. ‘ = '.% _.A' e e ,;-.' » e ‘ “_.: - B O v 'b" 1 e
tn . 4.'_ b ~.‘ : a : ] .b.‘.‘ . ..:'
= BT A S N I R — o = v LN
‘ _*1 \-}4- n (: 4‘ A 4 B : 1 i L. Doar A ., B 7 q__

HINGE STILE (LVL) INTERIOR LATCH STILE (LVL) CAP (PVC)
CAP (PVC) /"1 "\ HORIZONTAL CROSS SECTION
3/
35.75" MAX.
PANEL WIDTH
|l>

710 -

\3/ [ ﬁ% -
= -
O]
(18}
I
ﬁ ~
=
<
n_ .
= ! !
= X
] -
BN

SEE HARDWARE
TABLE -
DOOR PANEL
TRILENNIUM
l SERIES 3000 MULTIPOINT
LOCKING SYSTEM

©

DOOR PANEL

Plastpro
Fiberglass

DOOR SKIN: FIBERGLASS (0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

Endura

Trilennium® 3000 Series
Mutlipoint lock (3pt.)

BOTTIOM RAIL
[COMP.)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TOP RAIL
(COMP.) ~ T T
: o ,'V'; }
. » Y. . N |V
_&» . .'l .
. B ‘ 4
B
. '- .'V
FIBERGLASS RRCT g
DOOR SKIN LEe el
v.. ! i
5 qpy
/4
INTERIOR
//
R /S
A s
< .‘ ;' ‘
o ’ ‘4
FOAMCORE |l .- :" 3
\ a9, "4
\ . ":4'
A"A'i. e
" v 4 )
.4, '-. ;o .
. 4 ,‘Q =
SRS =
s,:d‘.‘.‘ ‘ :

m VERTICAL CROSS SECTION

P.C. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

EXTERIOR

ENDURA
PART OR ASSEMBLY:

PRODUCT:

DOOR PANEL DETAILS
& GLAZING DETAIL

LFS
Y

10/26/21|UPDATE TO 2018 IBC/IRC CODE

1

REVISIONS

=
<
a
o
z
6

pATE: 11/09/1

SCAE:  N.T.S.

DWG. BY: JK

NEY

CHK. BY: LFS

DRAWING NO.:
TX-4659

SHEET 3 oF 6

© 2016 R.W. BUILDING CONSULTANTS INC.



e uj
{ 4 3 S w3,y =
= #"'.‘(O e -ﬁ{/“'}& 122 83 Yo
- | 2X FRAMING E* A2 S % NS
g < (6>=042) Foi “Gho Npal c* 3 4e
1 il b1 |4 / T~ o s '..O 'o’(‘\ '&;. ?, JOuw Q@ Q%
OO O=D - ERVROR H TN
¢ ] 1A ; s KRSV~ It -
| . 2,v=.¥~.:"¢-f EX N5y o5 o
EXT. SHEATHING ’ DRYWALL | KO EF E:B 99
\' f . / SO AE > JEs ﬁé
| il E R g 38° g8
“ L— #10X2.5"PFH e 8 o xs o
s 3 1T
72N\ “l  WooD SCRew B Ed, Sy
I 174" MAX. § 392 g
] n‘ o
& X X g é 45
© 3 e< go
DOOR PANEL —\\ \ ._i .
\— HEAD 3
ENDURA WEATHERSTRIP E‘é’
3 (QEBD/PE 650} 5 =g
CORNER PADS (TYP.) I P e
— EXTERIOR N INTERIOR S |dzg
) =
0 ND:
(3" VERTICAL CROSS SECTION g ol 8°
\U Outswing shown - inswing > o £
also approved § £
<€
o [+
1/4" MAX. .
SHIM SPACE s 2l
EXT.
SHEATHING P N
Q
3
(6]
Ty &
ZX FRAMING Er e #10X 2.5" PFH WOOD SCREW S
(G >=0.42) / 8 %
ULTIMATE TRILENNIUM ASTRAGAL 2 %
N
JAMB o
p ENDURA WEATHERSTRIP S
(QEBD/PE 650} ENDURA WEATHERSTRIP fu
EXTERIOR {QEBD/PE 650) /‘ DOOR PANEL é
~
L
~
) ’X \’ S
pd
e — / Q N INTERIOR T LT
#8 X 2.5" PFH WOOD SCREW \- #8 X 1" PFH SMS$ #8 X 1"PFH WS #10X 2-1/2"FHWS scAlE:  N.T.S.
#8 X 3/4" PFH SMS 4" HINGE bwe. B:  JK
. . . CHK. BY: LFS
m HORIZONTAL CROSS SECTION /2 "\ HORIZONTAL CROSS SECTION DRAWING NO.:
W Inswing shown - Outswing also approved W TX—-4659
sHEer _ 4 oF 6

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-853 Plastpro FG Opaque (Trilennium)\C - Drawings\TX-4658.59.61.62.dwg

© 2016 R.W. BUILDING CONSULTANTS ING.



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-853 Plastpro FG Opaque (Trilennium)\C - Drawings\TX-4658.59.61.62.dwg

A\

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR TW CONCRETE SCREW

\\
EXTERIOR INTERIOR EXTERIOR NOURA
| DOOR PANEL OOR PANEL WEATHERSTRP 7, DOOR PANEL
ENDURA N (QEBD/PE 650),  MIERR EXIERIOR ENDURA
ENDURA 3 E
DO(%‘; é_‘g’)EEP DOOR SWEEP WEATHERSTRIP,_  INTERIOR EXTERIOR|
/ (DBK-ZAC) ; gz 1141213 (QEBD/PE 650)

-

m VERTICAL CROSS SECTION

\U Inswing Adjustable Threshold

I

#10 X 2.5" PFH WOOD SCREW OR
1/4"' X 2-3/4" DeWALT OR ITW CONCRETE SCREW

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

7”3\ VERTICAL CROSS SECTION
\y Outswing Bump Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR [TW CONCRETE SCREW

/~ 4\ VERTICAL CROSS SECTION
W Outswing Bump Threshold

/ 2"\ VERTICAL CROSS SECTION
W Inswing Articulating Threshold
w/ Pin Capture

4.5¢"

1 INSWING ADJUSTABLE THRESHOLD

ZAIL4565

N
. | | -~ | ! | |
456 | | 456 ~ 456 | | 456" |
2"} INSWING ADJUSTABLE THRESHOLD 3" INSWING ADJUSTABLE THRESHOLD 2" INSWING ADJUSTABLE THRESHOLD o) INSWING ADJUSTABLE THRESHOLD
ZAI565FN ZAILAA4565 ZAIAASESFN ZAI4565RDS

uj
CQ
s 0
0
L w b9
£* % i o
(7] < Z -
0 u OM OT
2 £ . Bu
w RN
P = e
H g 5
3 §°~§_z
L2 56
€ T X
2 Jg5© 0k
2 y 0
R Eé
Z00© OB
« oM &
§ 88 Eg
ox2 ¥
bl Z 0 TR
e £m, Ok
g 2658
o 50¢ %H
& i3 1 4 06
)
: =
§ k
£ )
£ Gok: 3]
[V
o
o
(78]
-
e
G
L
»
P n
S s @
a |a Q
=z |B &
] 30
2=
2 S
.. =
Ty 4
S S| &
=
= =
2 %
o o
Dl
Lim

REVISIONS

in P s
! 456" 5 4.56" ! ! 4.56" ! 4.56" | ! 456" |
INSWING ARTICULATING THRESHOLD 7 INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
é 7ACLA4565 7JACA565FN IACLAA4565 IACAA4565FN IACA4565RDS
MAX. DESIGN PRESSURE = +30 PSF MAX. DESIGN PRESSURE = +30 PSF
| [ W2 | [ 92 | )
; }(/ % % % —A m
i i i |
! 456" ! !— 4.56" ] ! 4.56" ! [ 456" !
1 QUTSWING THRESHOLD 12 QUTSWING THRESHOLD 13 OUTSWING THRESHOLD 14 QUTSWING THRESHOLD
1OBL4565 ZOB4565FN ZOB4565RDS FOB4566

10/26/211UPDATE TO 2018 IBC/IRC CODE

1

L
<
o
3
=
6

oaTE: 11,/09/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4659

SHEET 5 oF 6

© 2016 R.W. BUILDING CONSULTANTS INOC.



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-853 Plastpro FG Opaque (Trilennium)\C - Drawings\TX-4658.59.61.62.dwg

FLOOR SUBSTRATE MATERIAL (TYP.)
CONCRETE {MIN. 3000 PSl)
WOOD (G >= 0.42)

=,z
g0
555
S O
A
SEE HINGE .
\
DETAL | ~E
T,
Q
5
\—l ;“:
2
A
SEE HINGE
DETAIL 2
N L
48]
HINGE JAMB
CONCRETE ANCHOR NOTES:

<

DETAIL2OR 3
1 J/l—[ ]

2X FRAMING (BY OTHERS)
- 6"
(TYP r . l (TYP)
= ey |
|
DETAIL] #_\
-F

17.5" MAX
O.C. (TYP)

4" (TYP.)

] TYP)

FRAME ANCHORING
XX

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, addifional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

| MIN.C CLEARANCE

‘MIN. CLEARANCE
TOA ACENT

L 3/16" 1-3/4" 1-1/2“
TAPCON ]/411 1_3/4:1 411
DeWALT 1 " " "

ULTRACON®| 1/ 1-3/ 1 4

#10 X 2.5" PFH WOOD SCREW
1/4" X 2-3/4" DeWALT OR

Astragal Strike Plate
@ Head Jamb

A\

W

e

A\
A\

AN

N\
#10 X 2.5" PFH WS

DETAIL 1

#8 X 1" PFH wsé

#8 X 1"PFH WS é:.

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

%’
Ql.!/
AN

i

HINGE DETAIL 1

% #8X2-1/2" PFH WS

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

— #8 X 3/4" PFH WS
~— 4" X 4" HINGE

P #8X2-1/2" PFH WS

= #8 X 3/4" PFH WS

— 4" X 4" HINGE

ITW CONCRETE SCREW
(TYP @ SILL)
HINGE DETAIL 2
3/16" X 2-3/4" [TW CONCRETE SCREW
OR ASTRAGAL PIN CAPTURE
#8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP)
ASTRAGAL STRIKE
SPL AT?E @ gm_ \ 1/2" DIA. HOLE (IN CAP)
=AY . [e 7 @ Ry
= o = z = 2
1/2'DIA.-HOLE peranr 2 DETAIL 2 DETAIL 3
Outswing Inswing Inswing

)
=
S
& &
& ..
a | -
> B <
& =
% =
2 &
5 o ™
8 (@]
S E
& 5
0>
Lim
i}
0
o
o
3
o
S |n
o =
o
)
(»)
] &
¥
e
iz
[
o
5
~
S
Q<
S8
“lo
=
oaTE: 11,/09,/16
scALle:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4659

SHEET 6 oF 6

© 2016 R.W. BUILDING CONSULTANTS ING.



